Costs for internal mechanization:
IXxed machinery costs per year o= 41.000

Fixed machinery costs per ha ’) = 68,33

+ Variable machinery costs per ha
+ Wage claim per ha

8.40
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Costs for internal mechanization: B Costs for service

Fixed costs + variable costs + Wage claim =

41>'<0r?g/§/v' ¥ JA1108ha o+ BA0&ha =
Minimum extent of utilization: X haly. = 41.000 €ly.
125 €/ha— (41,10 €/ha + 8,40 €/ha)

125 €/ha

Euro/yr.
Euro/ha

41,10 Euro/ha

Euro/ha

provider

S g s = s
= 2 e i

| TP . =
= P o~
L Urs 1 o
y = - S Tasy
Tt S AW 27 31
A = e

= 543 haly.



Costs for internal mechanization:

Fixed machinery costs per year
Fixed machinery costs per ha .
+ Variable machinery costs per ha

+ Wage claim per ha
m

= 41.000 Euro/yr.
75,50 Euro/ha
41,10 Euro/ha
8,40 Euro/ha

: 543 ha/yr.
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Costs for internal mechanization: s Costs for service provider

Fixed costs + variable costs + Wage claim = Billing rate

41.0[?2/€/V. + 4110€ha + 8,40¢€/ha = 125 €/ha
X haly. i 41.000 €ly.

Minimum extent of utilization: X haly. = 125 €/ha— (41,10 €/ha + 8,40 €/ha)

= 543 haly.
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